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Swinging up Acrobot using Complex-Valued Reinforcement Learning
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Swinging up acrobot with incomplete sensors is conducted to declare that complex-valued reinforcement learning
enables an agent to achieve difficult task. The agent controlling the acrobot observes only angular of each joint.
The experimental result shows complex-valued reinforcement learning is effective for the acrobot task.
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Initialize Q(s,a) =0
Repeat(each episode):
Initialize s
Repeat(for each step of episode)
Choose a from s using policy delived from Q, I;
Take action a, observe r, s’

(a) assumption 1 (b) assumption
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